817) 22434} (2)3hd HE(T}) /A

—

AW |IDN

—

s Het

A1 LHRE Ar A%, LPARE B A%
M2 oD Am () 55, () 95
A3 A AbA B AFA

(4-1) V=8V, V; =8V
(4-2) L= 8/1=8A, I,= 8/4=2A0|C}.
(4-3) AA| AF= 8+2=10A0]2= HA| AF=
8/10=0.8Q0]C}.

A4

NN Wl oW | o] O,

C
Al alala|l al a| o] A [
Nl oloaollwiN =~ O O O N OO O WO = |-0|I

e AE Ao 2718 511 ol
AT @AE PRoln A 1R Solet que
A5 BaYsichs = b 7Pge st Al
RIS 5b7] 91t uleale
:925km=360":21R| T}

2
(6-1) L3re do] 9lS wf Aojutct BsHA 0
=42 = OWQ} gaolot.
(6-2) 352 g4t Jojdrt 550 Wagh 2AL
ZEgolot.

M6

|t

¢




